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Christmas Division

Solve the following word problems.

Santa Claus has 1000 candy canes. He wants to
divide them equally among 10 sacks. How many
candy canes will be in each sack?

Mrs. Claus baked 100 gingerbread cookies. She
wants to divide them equally among 10 trays. How
many cookies will be on each tray?

The elves made 2400 toys. They want to divide
them equally among 10 shelves. How many toys
will be on each shelf?

There are 1200 Christmas lights. If they are divided
equally among 10 trees, how many lights will be on
each tree?

A Christmas tree farm has 900 trees. If they divide
the trees equally among 10 fields, how many trees
will be in each field?

Santa's reindeers ate 1500 carrots. If they divided
the carrots equally, and there are 10 reindeers,
how many carrots did each reindeer eat?

A toy factory produced 3400 teddy bears. If they
divided the teddy bears equally among 10 stores,
how many teddy bears will be in each store?

A Christmas market sold 8000 cups of hot

chocolate. If they divided the cups equally among
10 stalls, how many cups of hot chocolate did each

i'rqll sell?
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